Honors Algebra 2

Name: V\e\{

3 - Polynomial Characteristics

3.1 = Classwork

Date:

1. f(x) P+ 2xF -x -2

&
Rel. Max: NA_ Rel. Min: ’ﬁL
Abs. Max: NA_ Abs. min:_(1,-9)
nc_(1,00) _ Dec: (=00, 1)
Domain: -e0,00) Range: _ -9, )
Roots: k=-2,4__ yint: (0, -8
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2. fix) ¥ -2x-8 | |
Rel. Max: (-1.54,.68)Rel. min: (.21, =2.1)
Abs.Mox: WA Abs.mini_NA
nc: -0, -18%)  pec:_(-).5Y,.2))

21, 00)
. LOQ,_@ Range: ('OD’. OO\

Domain: |-

Roots: ¥=-2,71, \  y-int: (0 s 2—\,
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3. f(x)=-x> +4x% + 4x

Rel. Max: (5 ) ,ZI-DS)ReI. Min: (=48, - fi)

Abs. Mox: NA Abs.min: NA~
inc: (=48, 34) Dec: (-0~ 48) (3.1,00)
Domain: (~e8,68) Range: (~o0, o0)
Roots: X271,0, 4.4 yint:_(0,0)

-oP =7 .“w;u 3'\3.1, 21.05) Gt
T z
2 1%
18 %
=
[ T ¥
47 F
TZ '
10 s
T '
E ———
A W |
AL 7
Y-
5 ¥ ]
2 | .
4 |
L
(-0.48, -0.9)

4. f(x)=x>-2x" —4x+8

Rel. Max: (-, ARel. min: _(2,0)
Abs. Max: _NA Abs. mine_ NA
inc: (00, -a1) (29bec: (.07, 2)
Domoin:ﬁgﬁ,@ Range: (‘oﬁ, OO)
Roots: X224, L, 2 v-int: (0;%\,
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Honors Algebra 2

Name:

3 - Polynomial Characteristics

3.1 = Classwork

Date:

|5 fx)=-2x7 4 x46

Rel. Max: Q@bﬂb Rel.Min: _NA_

Incziﬂ,_,gj) Dec:
Domain: {'ooiobl Range: ('gﬁ [9_)_51

Abs. Max: LZQ,QB) Abs. Min: %NA__
(25,00

6. f(x)=x>+3x?~4x-12

Rel. Mox:(:_Zé,_Lﬂ Rel. Min: L@ﬁl}
Abs. Max: _\ E(_ Abs. Min: 73\_’6W
inc:(-ob,fl-s)(l.sl’%ec: ( #2595, 1-5_\,

Domc:in:f'_‘@,@ Range: (-oo, DO\

(0, 12)
(2.5, 1.0°° ..%5 1S o0

Roots: X* ‘3,,’2_, L yint:

Roofs: X= ’).5,. L y-int: (0:(9\
5
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Identify the y-intercept and the # of zeros

7. fg):iz%lé

8. f(x)=x®+x_—_l_

Y-int: fO,f\\ # of Zeros:,é___

it of Zeros: /E)

Y-nt: 0;'|Q

10.fx) = D x 2

9. f(x) ﬂ’&xa -3x-10_

Y-Int: = # of Zeros: Y-Int: _{ Q,~ # of Zeros:
(0,116) i (0,-2) e

H.f(x)=7)®

12, {x) = 24Dk 7

Y-Int: _‘ O y 0 ) # of Zeros: 4\____ Y-Int: ‘(Q,jl # of Zeros: _5_,_#




